PacuéeT napameTtpos ®HY BTOpOro nopsiaka:

NcxogHble aaHHbIe:

6 6 6

cl:= 0.047-10 c2:= 0.022-10 c3:= 0.047-10

rl:=3900 r2:= 5~103,10~103.. 50~103

Pac4ét napameTpoB 13 UCXOOHbIX JAHHbIX:

1
PesokacHan dactoTa(w): 002 = =——= " (47.10%) = 2207« 10° Cxema ®BY
C n R meHsit0TCA MecTamu.
Pe3soHaHcHas yactoTa(f): f(r2) := % f(47~103) = 365.577
T
n
r2

HobpoTHOCTbL: Q(r2) =

- 3
czc3 (3 [c2 Q(47-1O ) =0.134
cl c2 c3

PacuéT anemeHTOB (hmnbTpa (MO UCX. AAHHBIM):

c2
K:=— K=0.468
cl
KO := 20log(K) KO0 = -6.594
c2 . 1 3
m := _1 m = 0.468 [OMMKHO BbITb MEHbLUIE UMK paBHO: mprov(r2) == — mprovi47.-10°) = 9.451
¢ 4.Qr2)%(1 + K)
r2 = f(r2) = Q(r2) = mprov(r2) =
5-103 1.121-103 0.412 1.005
1-104 792.552 0.291 2.011
1.5-104 647.116 0.238 3.016
2-104 560.419 0.206 4.022
2.5:104 501.254 0.184 5.027
3:104 457.58 0.168 6.032
3.5:104 423.637 0.156 7.038
4-104 396.276 0.146 8.043
4.5-104 373.612 0.137 9.048
5-104 354.44 0.13 10.054
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PacyéT anemeHTOB (punbTpa (CUHTES): M,06

K=06 m=K Q:=05
KO = 2010g(K) KO = —4.437
(1= 3900 r2:= 47-10° 0
i 1 i
m= 06 [OIDKHO BbITb MEHbLLIE UMW PaBHO: — - 0.625 o 0
4.Q-(1+K) X 5

f=365 =2nf ©=2203x10°

2
g LHN4MQ-(1+K) 2= 1837x 10 °

cZ:

2-m-r2-Q
1 _
i 3-1134x 10 °
) .r12-c2-m
c2 8

cl:= — cl=3.061x 10
K



